‘;‘ﬁ:‘v* s Nhan s6 thap phan véi 10,100,1000

Tén:_ Ngaythang:_ Piém:__
6, 725 x 1000 = 5,397 x 100 =
9,617 x 100 = 6,424 x 1000 =
9,139 x 1000 = 2,362 x 10 =
7,835 x 1000 = 4,788 x 100 =
6,581 x 100 = 4,622 x 10 =
2,758 x 10 = 3,773 x 100 =
7,761 x 100 = 10,213 x 10 =
4,794 x 10 = 2,337 x10=
10,103 x 10 = 7,99 x 1000 =
9,804 x 100 = 10,975 x 10 =
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% s7 v < Nhan s6 thap phan véi 10,100,1000

Tén:__ Ngaythang: _ Piém:____
6, 725 x 1000 = 6725 5,397 x 100 = 539.7
9,617 x 100 = 961.7 6,424 x 1000 = 6424
9,139 x 1000 = 9139 2,362 x 10 =23.62
7,835 x 1000 = 7835 4,788 x 100 = 478.8
6, 581 x 100 = 658.1 4,622 x 10 = 46.22
2,758 x 10 =27.58 3,773 x 100 = 377.3
7,761 x 100 = 776.1 10,213 x 10 =102.13
4,794 x 10 = 47.94 2,337 x 10 =23.37
10,103 x 10 = 101.03 7,99 x 1000 = 7990
9,804 x 100 = 980.4 10,975 x 10 = 109.75
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